Tenorsaxophon

Stufen
J=96
1 1 1 1
-ty = 6 = % = 3 = Z
-?—“4 % % % 4
A
5 Bm7¢13) Gmaj7%)/B Bm7¢3  Em13 F#m
At = - %
N L /1 J /1
ANIV4 x x
dJ
7 Bm®3) Gmaj7%)/B Bm7¢13) Em13 F#m
) 4
. iy 3 - 6 - 4
&% % 4
dJ
9 A7 Asus4 A7 Asus4 Gm7/Bb
[a ")
- - %
[ ) L /1 J /!
ANIV4 = x
11 A7 Asus4 Em/G B7/F4 Em7
) 4 - ‘ _ -
i& L /1 J /1
ANIV4 x x
J
13 Gmaj7 Gmaj7 G#m7¢%
f) 4 1
. i 3 - 6 - 4
D—4 %4 *
o
15 Gmaj7 E/G# Gmaj7 Dmaj7/Ft A7 B7 1
2t - 6 - 2 - %
% % 4
e
18 Em7¢19 Cmaj7/E  Em709 Am7 Gmaj7/B
—g—gﬂ.—r‘— 2 2 y £d @ v/
p 4f S d o ] L 0 ) | |
G — 3 L % : / %4
o



2 Tenorsaxophon
2 D Gmaj7/D Am7/C E/B Fmaj7t/A
7] P — - _"'—\9_
-t . - G , %
O— : L / 4 4
oJ
929 Cmaj7 Cmaj7¢> Cmaj7 Cim7¢
A 4 — — —
Q) ; | J X I hal I I
2 Cmaj7 C#m7¢ Cmaj7 Gmaj7/B A7/C# F47(add9)
A U e —
o o ( >—@ N ’\D 2 (o] (
T Jg 1 ] 1 | ) | | J N |
\;)V > d | ! | I x I
9 Bm7¢13 Bm7¢13) Bm7¢13) Bm7¢13)




